ACT-ASSOCIATION OF COMPUTER TEACHERS MALAPPURAM

MODEL EXAMINATION -01
COMPUTER APPLICATION (COMMERCE)

ACTFCM 01

ANSWER KEY
Qn|Ch |Question Total
. |apt Value points score
No|er Score
1 |1 |The 8 bit encoding system that was developed to represent Indian
languages is ____ ISCII
EDATHMB BIHDOS (@MUl B@Eleem@Imo] 1
ailemilafle) 8 enilg ag)mBesouslouy Milgue _ @yem.
(ASCII, ISCII, UNICODE,EBCDIC)
1
2 12 | is a input device to evaluate answer sheets of objective type
examinations
SNIWHGIOTN ©6Sq] GalOBEERSIOS DOMEBRUB OMR / Optical Mark Reader 1
21e(MlBEM®@o MSOMING MVaNIVIENM B@3 MBalRS
Daldh®@6Mo aR®) ?
(Joystck , Light pen , OMR , MICR) 1
3 |3 |The flowchart symbol that has one entry flow and two exit flows
830©} af)M(S| BrQOIo BENE eVl BaFid:8l0 988
a0@80.410@3 aflaMo decision 1
(decision, input, processing, output ) 1




4 The non graphic symbols in C++ can be represented by using
C++ &2l ((N2a0lem Om® allamearud
(@MW SBl LM @DY....... DalE@IUT 4f06M). Escape sequence
5 The ___ block is executed in a switch , if no matching conditions are
found.
B0} SHEMEla¥Myo M5] @GO3 switch el -------
G6RJIBE) (A IUBDTI LM
(case, break, default, else) default
6 Expand WAN
WAN 608 a13@em@3alo..... @6 Wide Area Network
7 Choose the one which is not a search engine.
O©MVB5] af)MBLl0d  BRLJITCID® @EEEOTNSIEEE:. Gmail
a. Yahoo b. Gmail c. Google d.Bing
8 Despite their high speed and accuracy, computers are said to be slaves
of human beings. Explain.
OQAM BN Qo E@|O@3o DENBII@IMIIS0,
HHMUISOIBUB DMPH(OTY BIRHEEHIMIUBDTR]EUB Lack of IQ
@RYSEMMM} alOWEQSIM. QluaBle>@le6)®:. Lack of decision making power
9 Find the missing terms in the following binary number series
00iles OBISIOMIFISS HSENINO] MMIAB GLeMI@I©d 1000,
Q5260 alR6BRUB  BHEENTNE: 1010,
10,100, 110,, ..., ...
10 Distinguish between compiler and interpreter. Compiler - translates the whole program in a single run /
B06)6alBI0) DONRABO (@ISO @AAERBS QU@(IMIo ag)(o) ? | translates the whole program at a time
Interpreter — translates the program line by line
11 Arrange the following memory devices in the ascending order of Registers, Cache , RAM, Hard disk

capacity

(1 mark for partially correct OR reverse order )




©®96)9 MIAIEN0M HAINOEHOS MIoREEM GUBHUIQRNS
@RBBIOEM(EADTMITV ) PIORD:
RAM, Cache, Hard disk, Registers

12 What are the major functions of an operating system? Process Management 1/2
80} 69a]c0gl63 MIQROMIONMG (IWIME]S WBLNEBBUS Memory management 1/2
a)OTMEJJ0 ? File management 1/2

Device management 1/2

13 Explain any two freedoms offered by FSF regarding free and open Any two freedoms from the following
source software. Freedom O - The freedom to run program for any purpose.
MO BATVIAGOAURG MVosNIMWla] FSF M@ddx3am Freedom 1 - The freedom to study how the program works
aBO@BIERe E6NE] MOOMEERUS QllUadle>@lo6)Ro: and adapt it to your needs. Access to source code should

be provided.

Freedom 2 - The freedom to distribute copies of the

software.

Freedom 3 - The freedom to improve the program and

release your improvements to the public, so that the whole
community benefits. 2x1

14 a.Which phase of programming will help in the later modification of
a program written by another person?

G I(UNIDIEBEINNG B} BERLEM BIUY MQINIBE G ld(Udo AIQo
(')_I(ag(?ST?DO(T& 26)QIEIONS (mnnomﬂce@mn@” ? Documentation 1
b. Explain the different methods used in this phase
0™ GRSl@d OaleIUlecm ailaillw mIdwesrud Internal documentation / comments in the program 1/2
@36 ®EJI0? External documentation / user manual 1/2

15 What are the two types of errors that can be detected in the
debugging stage?
aSlerugdlesrs  equedl@d @6nsiailslenonrm ey &@QE:uB | Syntax error
a@qu? Logical error 1

1




16

Pick out the invalid identifier from the following and give reason
®969 ®MIAleaymMAIEIGE Moo @RIVIUAII®
£a)WBla0@AB 6N ilSla] B006Mo af) 9IRS

(_numl , num_1, num 1, num1) num 1 1
Reason White space is used 1
17 Identify the tokens in the following C++ Any four from the following
Statement H‘lt => key’word
@969 @MIIEleaM C++ aauEeRmglee! @SI866mie:ud x  => identifier
‘@%@3‘9’ = => Assignment operator / operator
int x=100; 100 => literal /constant /integer literal
; => punctuator 4x1/2
18 The following are some fundamental data types in C++. Arrange them
in any order of size(memory usage).
@969 MGl C++ BRI 6I6SaIdUd QAULRAODIONS | ouble . int . char . void
(02220] DalEGIN0) aBODEILI0 (HADTIT 9IRS |OR
int, void , double , char void, char, int, double 2
19 What is the difference between a=5 and a==5 in C++ ?
C++ @3 a=5, a==5 a)MlQl @elenss QU@OMIo ag)0) ? = assignment operator / assigns the value 5to a
== relational operator / compares values / check the value |1
of a is 5 or not 1
20 What is the use of the keyword const? The keyword const is used to declare a constant
const ag)aM SlEAUBUING DalEINIo af)aD) ? OR
(access modifier 1 mark) 2
21 Write a C++ statement to display the following message cout<<”Covid 19, Break the Chain”;
@969 ®MIF8E OAeqReE MESIMIGS (1BGWlaleedmss |oR
C++ GEURORNT ) R3ORD> cout<<”Covid 19 ,”<<”Break the Chain”;
Covid 19, Break the Chain OR
cout<<”Covid 19,” ; cout<<”Break the Chain”; 2
22 An exit controlled loop is guaranteed to run at least once irrespective | The test expression will be evaluated only after executing |2

4




of the condition. Why?

Condition al@BlNEME66a]SIO® 6@} exit controlled £13a]
2)AQIEEE Q@ B0} (IINUUREORESIRI0 (A IQIBDOHIE6}0. af)0TY
6 BHI6NE?

the body of the loop once

23

Classify the following into entry controlled loop and exit controlled
loop.Write the syntax of any one loop.
@6 @®MISI8BUO® entry controlled ag)0MYo exit controlled

ag)Mo @0 MIGENE:. aBO@EBSIRI0 6@ LiJa] ©OF syntax

)9O H>.
(while, do..while, for)

Syntax of any one loop (Example can also be given 1 mark)
for

for(initialisation ; test expression ; update expression)

{
Body of the loop ;
}

while

Initialisation;

while (test expression )
{
Body of the loop;
Update expression;

}

do while
Initialisation ;
do

{

Entry controlled loop : while / for
Exit controlled loop : do ... while

1/2
1/2




Body of the loop;
Update expression;
}while(test expression);

What are the functions of a MODEM in a computer network?
830} SHMIRSA dEMQOIBSE] @ MODEM ag)aslmosny
DaIBQININLHMM®) ?

Any two points from the following
* Modem - Modulator demodulator
* Modem is an electronic device used for
communication between computers through

telephone lines .

* Modem is used to convert digital signal to analog

and analog signal to digital 2x1
25 How is a hub different from a switch in a computer network? Any one point from each
80} SHMIRPSAB dEMQQUBBEIN@S an6n] , MVila] agamilau@yes :
(IQIB@MMo IGDAfo 6aIQRE: R Switch
The hub transmits the data | Switch transmits the data
to every node . to the destination node only
Hub is not able to identify | Switch stores the addresses
the destination address of all the nodes connected
to it
Hub causes congestion
Switch does not cause
congestion 2%1
26 What is a web browser?ag)amasny ecuen! erumaud ? A web browser is a software used to retrieve or present
information and to navigate through web pages in the
World Wide Web. 1
Name any one web browser..gomesleie 8@} eaisn! nimaud 6ag Any one example (Mozilla Firefox, Google chrome ,
Bal@ ) VIR internet explorer , opera , UC browser , Edge etc) 1




27 |10 |What are the types of interaction in e-Governance? G2G / Government to Government 1/2
e-neasmadmilee: allallw @ao interaction G2B / Government to Business 1/2
B G2C / Government to Citizen 1/2
G2E / Government to Employees 1/2
28 |1 |(a)Name the functional units of the CPU. Any two from the following
CPU Qil&0d a085a16mM@d QemIQIeu8 a@e@E}do0? « ALU / Arithmetic Logic Unit
* CU/ Control Unit
* Registers 2x1/2
(b)Explain how these units work together to perform as the “brain” of |Any two from the following
the computer. * ALU performs arithmetic calculations and logical
HMIRSOlOMR “AMITlatidr0” @YD (UIBODIE6I03 0D operations
@ReMIQI-UB ag)6BROM CI)] (IQIBODTIEEMMIOUATY . _ _
alledledleens. * CU coordinates the operations of all other units
* Registers are temporary storage location inside
CPU 2x1
29 |1 |If the binary equivalent of 39 is 100111, represent -39 in Sign and Sign and magnitude of -39 is 10100111
Magnitude, 1's complement and 2's complement ( use 8 bit format)
39 ©03 ©66nIMAl 100111 @REEMESIE3, -39 ag)D MVoeUO® | 1’s complement of -39 is 11011000
Sign and Magnitude, 1 08 al3@H@3alo ,2 OF al3@BO3alo 2’s complement of -39 is 11011001
a)MIQUDN@B  (I@IMIUSl@Ble6)6s, (8 bit format
DaIGQIUILM)E) 1
1
1
30 |1 |Convert (5060)s into hexadecimal. 5060 g = 101000110000 -
(5060)s OM HANBTVIOAWMI2LIOQ] BB Mo = 1010, 0011, 0000
6)21Qd:. 1




=A301¢

2
31 Define e-waste e-Waste refers to electronic products nearing the end of
@_@m(&}’ n.(D(TT)O(?Y& n_g)(m'j' ? their "useful life". 1
List any four e-Waste disposal methods Reuse, Recycle, Incineration , Land filling
en-cUQY MIBRIBGLEIMo £21YIMBIMBS GOS0 4
DIBUWNEBRUB af)PYOND: 4x1/2
32 Categorise the following softwares. a. Free and open source software -Mozilla Firefox , GIMP
@IOY alOWIMAI @0 @IB|H6)E> b. Language processor — C++ Compiler , Basic Interpreter
(Mozilla Firefox, C++ compiler, Windows, c. Operating system — Windows , Mac OS
GIMP, Mac OS, Basic Interpreter)
a. Free and open source software(cui@@m 639qj6nd amowmy
GM2aNQ OHAUWA)
b. Language processor 2% 1/2
c. Operating system 2x1/2
2 X
172
33 Explain any three flowchart symbols Any three flow chart symbols with explanation
aRBOOMB R0 MM a0E80.21008S allaMedrUd — Start / Stop
Qllvedle:@lecs:
=~ Input / Output
] Process
3x1
Decision
> Flow lines
O
_ |




N

() Connector
\__/

(Symbols only 1/2 mark each)

34

Define Literals in C++.
C++ @3 ellQo@dmy ag)amoe ?

Literals are tokens that never change their value during the
program run

OR

Literals are constant values 1
Explain any two literals with example Any two literals with example
aBOO®8see @6NE lQO@MY 9RINEEM Mo * Integer literals (Example : 15 , +25, -15 etc)
aflvodledlecye * floating point literal (Example : 12.5, +25.75, -
10.25 , 3E2 etc)
* character literal ( Example: ‘A’, ‘b’, ‘\n’, ‘5’ ,
‘%’ etc)
* string literal (Example : “welcome” , “125”,
“A” s “2AJJ )
Names only without example (2 x 1/2) 2x1
35 Consider the statement int NUM=25 ; State the L value , R value and
variable name if the allocated memeory address is from1005 to 1008.
int NUM =25 ; ) 8QuReang’ aldlnemless. soailes allot
6).01Q)6)o|S3OM Memory Address 1005 23@)@0 1008 Variable name — NUM
?@Z??O@smgﬁ L value , R value, variable name ag)(m']m L value — 1005
R value - 25 1
1
1
36 Explain Logical operators in C++ Logical AND (&&)
Ct++ el grIedle@d 639o]@0aQRYM) ailIdleye: returns true if all the expressions have true values / 1/2

/\
\/




returns false if any of the expressions have false value 1/2
Logical OR (|| )

returns true if any of the expressions have true value /
returns false if all the expressions have false values
Logical NOT (!) 1/2

returns true if the expression has false value / returns false | 1,2
if the expression has true value

1/2
1/2
List the operators involved in each of the following expressions and |a. 5/2+3
write the output /' OR division r
o 5043 + OR addition 12
b. (10 % 3)/2.0 Output : 5 172
b. (10 % 3)/2.0
% OR modulus operator 1/2
/ OR division 1/2
Output : 0.5 1/2
Write C++ statements to p=1;
@588 @RNUUREBRUIHE) C++ statement ag)93@Rs:. OR 1
a. Initialise the integer variable p with 1 int p=1;

p ag)om integr caudlwenilud allel 1 @RI @RE.ElL603

10




b. Divide m by n and assign the result to q q=m/n;
m 6XM N OBIENE aN@la] Alaruuds q @3 BARIB 6).21QYIMB 1
c. Display the values in s and a cout<<s<<a;
s ©R@}o a WIOSWIo QfleId:UB (1BBUBlo]leedm. OR
cout<<s; cout<<a; 1
39 Given m=5 and n = 2.0, Predict and explain the result of the
expressions a. m/n=>2.5 1
m 6)(1@ S)ﬂ&l 5 90 n &R Qller 2.0 @REM). @IOY @mﬂgg@? Type promotion 12
) EMNIB) (laUMIBBIOS OlTVUBS ) THIDIGBlENe ag))
EHIBEMMVaOIo af)PITNEs.
(a) m/n (b) m/(int) n
b m/(int)n => 2 1
Type casting 1/2
40 Complete the following C++ code to display odd numbers from 1 to
99. _
t=1
1 MO@3 99 AUOE@I8S8 6] Mot(EUB (IBAUBlafleepma@ln mmilgss 1
C++ eoolleel Qll§iealo® BIWo ali@lqfleeye:
for (__; ; )
{
cout<<t <<”\n”;
}
t<100
OR
t<=99 1

11




t=t+2

OR
t+=2 1
41 Rewrite the following code using switch case statement.
@69 MBS GBI switch case ERYOAG’
DaleWIUIlo] @G af)9@RS:. switch (ch)
if (ch=="R") (
cout<<"Red" ; case ‘R’ : cout<<”Red”; break;
else if(ch=="B")
" " case ‘B’ : cout<<”Blue”; break;
cout<<" Blue";
else default : cout<<”Invalid”;
cout<<"Invalid" ; }
(structure — 2 mark)
( 1/2 mark each for case, break )
42 What is a MAC address? agamoeny MAC @wo@ay? Media Access Control Address 1
Explain its structure. @p@lead ccism allaidleanys Any two points from the following
*  MAC addresses are 12-digit hexadecimal numbers.
* MAC addresses has one of the following format
MM:MM:MM:SS:SS:SS MM-MM -MM -SS -
SS-SS
 Eg: A0:B0:C1:B5:C7:10
* First half of MAC address is Manufacturer code
and second half is the serial number of NIC 2x1
43 Explain any three types of computer networks based on geographical |Any three with explanation or example from the following |3x1

daread

PAN - Personal Area Network

12




Geographical area @RSIMUNIMAIHE) a@O@E:IRI0 DIMNY D@0
HHMIISB HNMQUBLEE:UB QllUG|B6RSs.

- network of communicating devices of an
individual

- Eg: devices connecting using bluetooth / USB /
infrared devices

LAN - Local Area Network
- network within a room or building
- Eg : network in a computer lab
MAN — Metropolitan Area Network
- network within a city
- Eg: cable TV network
WAN — Wide Area Network
- network across a country or continent
- Eg : ATM , Railway Reservation system , Internet

(Names only 1/2 mark each )

44

a. Identify the network topology in which all nodes are directly
connected to a hub or switch.

OMQOUBSBEOLI af)BJO BMIWE:Bo BMEIF aO6TY MBI
Mfla] MICWI BEMES ©.21QYIAM BSIG OB aB@I6M)?

Star Topology

b. Write any two characteristics of this topology.

DM 6SIC|I8HIWIOS RO BENE (LIBDYBDBHUB af)PITNS>

Any two characteristics of star topology from the
following

* More efficient compared to bus topology.
* Easy to install.
* Easy to diagnose faults.

* Easy to expand

2x1

13




* Failure of hub/switch leads to failure of entire network.

* Requires more cable length

45 |9 |Categorise into different social media types. Internet forum — Ubuntu Forum
QU@INID® @0 BMVIH(TD AUWIBEIT] @@o @IBIERD |5ocial blogs — Blogger
(a)Youtube (b) Wikipedia (c) Twitter (d) Facebook (e) Ubuntu Micro blog — Twitter
forum (f) blogger Wikis — Wikipedia
Social network — Facebook
Content Communities — Youtube 6x1/2
46 |9 |Nowadays e-mails are very popular. What are the advantages of using | Any three from the following
email ? Speed , Easy to use, Provision of attachment ,
DG JOUB D-AXERGUB UBOE WM llmeN. D-6a@f@3 |Environment friendly,
DalEIUIBNRMNMTIOTG URETEBBUB 1 f)OTDIOBOWIEN? Cost effective , Anywhere any time , Easy to reply to an e-
mail 3 x1
47 110 |Explain any three e-Learning tools. Any three from the following
aRBOOBRljo MM 0-crlemler S383E-08 QlluaRle:@lH6)H: *  Electronic Book reader (e-Books)
* e-Text
* e-Content
*  Online Chat
* Educational TV channel 3x1
48 |10 |Write any three advantages of e-Business Any three from the following
en-enilmilmqled @30m3 GRMEUB af) P3RS It overcomes geographical limitations. 3x1

* e-Business reduces the operational cost.
* It minimizes travel time and cost.
* It remains open all the time.

*  We can locate the product quicker from a wider
range of choices.

14




(Any three valid points)

49 Define the following @oe¥ a1o@ymal allvedledleanys: a. Algorithm — step by step procedure to solve a problem
a. Algorithm @8]
b. Translation ey b. Translation — the process of converting source code )
c. Debugging () ( program in HLL) to  object code ( program in Binary
d. What are the criteria to choose the best algorithm for a problem? |1 angyage / Machine Language )
(8@} mgy @RGiENICm. Gleeamms}endmes aameemusER c. Debugging — the process of detecting and correcting 1
aRBOMIOBO@IEM ?) (2) CITOTS
d. The criteria to choose the best algorithm for a problem |1
are
* minimum steps
* execute faster 2
* minimum memory usage
50 Read the following C++ code and answer the questions given below |a. 1234 1
@MIBIENM EHI al@leuadwls] ey mmmlcleaom b. Initialisation : m=1- 1
@aldB(EBRUBHE) OO0 af)IORND> _
Test expression : m<5 1/2
for (m=1; m<5; m++)
{ Update expression : m++; 1/2
cout<<m; Body of the loop : cout<<m; 1/2
} c. m=1;
a. Predict the output (8503 ag)93S> ) (D) do
b. Identify loop components (eq{log allailw ceisecerudserud ( 9
@@l g0lss) (2)
c. Rewrite the above code using an exit controlled loop couts<m;
(megloel eeoullom exit controlled eq] Dale@ouils] mog m++;
)9O ) (2) }while(m<5);

15




(use of do while loop can give 1 mark)
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